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f(x,y)=8x3+12xy+3y*-18x (1
f(x,y)=x3+y*-3x-12y+20 (2
f(x,y)=x3+y*-3xy+4 (3
f(xy)=3x—x3-2y2+y* (4
f(x,y) =¥y (s

f(xy)=ydx-y*—x+6y (6
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f(x,y):xy X;Sx+y 7

Z2=xX34+y3-3xy+4 nownpm (8
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CF(xy)=x2+y? +axy DONPNON NN (11
OOIP NTIPI NN ,(0,0) NTPINY INIIN N

,a 9V DY N MY WIAP MMV NN NN NNRYA A
YT 370 ROV IR 9DIN, D192 ,010°0P10 NN /N PYON NTIPIN
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0N (1.5-3) ;99 (-0.51) (1

N (L,-2) , (-1, 2) ; DOWOPN (-1,-2) ; O (1, 2)

.0Mm»N (11) ;998(0,0)

N (-1, 0),(11),(1, -1) ; owopPn (1, 0) ; oY (-1, 1)(-1, -1)
.0MmopPn (0, 2) (5

.DMOPN (4, 4)

)

.0MopNn (0.5, 4) (7

z=4, z=3 (8

270 2 N2, N0 4 TNIN, N’D 42N (9

.2883% »o1opn N1 B, =108, P, =12$ (10

SNYTONIND ,a=2, a=-2 My .2 .INON MONY LN (11

DMIYN —2<a<2 ;99N a>2, a<-2
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